Name:

Graph each function

1)y =3sin &

A:

B

P.S.
2)y=4sin &
A:

P;

P.S.

3)y=sin4é6
A
P

BiS.

4yy=cos28
A:
B:

P.S.

5)y=2sin28
A
P:

PS.
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6)y=-3cos48

A

P:

P.S.

Ny=sin 8 +2
A
P

P.S.

8y=cos & -3

A
P:

P.S.

Dy=3sind -2
A:
P:

5.

10yy=2cos 8 +1
A:
P

P.S.

V.S.

R

A

v

A 4

< o
= e
A L
B -
i oy
- o




Name:

Graph each function

Dy=cos(8-7)

A V.S.
P: D:
P.S. R:

2)y =sin(6+Z
)y = sin( 2)

A V.S.
P: D:
PS, R:

3y=sin(@ +x)-2

A V.S.
P D:
P.S. R:

4)y=cos(€-—2?—r-)+l

A V.S.
P: D:
PS. R:

5)y=2cos(8+2 )

A V.S.
P: D:
PS. R:
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6)y=3 sin(@—izr-)

A

P

P.S.

Ty=-2cos(260 + 7)-1
A:

E:

P.S.

8) y =3sin( & + %)—2

A
P:

P.S.

Ny= %cos(fw - —g-)+3
A:

P:

P.S.
10)y¢—sin((§-+gw]+l
Al

P:

P.S.
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